
Section 7.4 – Introduction to Determinants     Name_____________________ 

Determinant of a 2 by 2 matrix:  
11 12

11 22 21 12

21 22

a a
A a a a a

a a
    

 

Find the determinant: 

A = [
2 3
1 2

]       B = [
4 2
2 6

] 

 

 

 

 

The minor ijM  of the element ija of a square matrix A of order 3n  is the determinant of the matrix of order n-1 

obtained by deleting the corresponding row and column.   

The cofactor ijC  of the element ija of a square matrix A of order 3n  is given by ( 1)i j

ij ijC M   

 

B = [
1 2 −1
2 3 −1
3 6 −2

]  

 

 

 

 

 

 

 

 

 

 

  

 



B = [
1 2 −1
2 3 −1
3 6 −2

] 


